Serial No., Of'-thé Answer Book
Relf No. (in figure)_

’

. L ' \ :
dowordy o Lo Yy
e | - ’ - - -

Supenutcmlcnt\ml & S wv'mnv‘ . Fl('.No_(Fm‘Oﬁiceuseouly)‘

Area b s e P e L 0

. ‘ L 401601 - . \FlC. No (For office use only)': ‘
PHYSICS (Fresh) 9" ' '

Total Time: 3 Hours. . R : Max. Marks: 65
Note:  Therc are THREE Sections uftlus Paperi. e. A.Bund C, .illcmpl cuch nccordmg 10 the given instructions. :
Time: 20 Minutes : SECTION-A : Marks: 12
Note: Attempt all parts of Scclion — A. Section —A must be return to the '-upumtuldc.nt alter 20 minutes

cven if you have not attempted any question. Over wulmb/ (]Cf"lCmg/CUttlll“ etc is pmlublted in
‘wc‘txon A and no credit will be given to such answer.
1. Write the correct option i.e. A/B/C/D in the empty boxes.

i. . The least count of vernier calliper is

(AY .001mm (B) 0.0Tmm (C) 0.1mm (D) 0.0001mm

ii. The displacement covered in unil time is callcd

(A)Speed (B) velocity (C) %cnlcmhon ) distance ,

iit. A truck aceelerates uniforuly from 15ms™* to 20 ms™* in 5 seconds. what

[e ]
(8]
is the acceleration of the truek . C y o [I]
(6]
[A]

e e ——

(A)2ms™2 (B) Lems™?* (C) lins™* (D) 2.5ms™?
iv. Which one is the unit of weight? _ B : _7: L .
(A)Newlon (B) Kilogram ~ _ (C) meter (D) ms™
v. Sinfd = | ' o

-
+

, _ P »
(A~ (13) —- B (Cy— : (D) None ol these
F R F S

x

vi, A 100 N force acts along the x- axis- its y- component is :
(A) ON BISON (CYI0ON (D) 25N

I he cenuipetal acecleration is lLl)lL‘ﬂ.lllh(] by an L‘L]U atlonge= Y
(A)vir ' () v'r : () _\h. ) ) vx r o
viii. In Slthe unit olenergy is o o ' [_‘C‘j
. {(A)Newton ' (H) !\1101,1.1111 () loule o '(D) Norne of these .
SiX. rThc deusity of mercury in kg m™ is | * . ' T o [—_D—:_]
(A) 1000 (B3 2000 ' ¢y GOU (D) 13600 .
5. In Kelvin scale of temperature the boiling peint of water marked s L-E]

(A) 373 & BRTIK () 0°C (D) 100°C

it (]

v () While (B) Grey ) (C)Lil black (D) Highly polished

e S

(.‘\H\L alive (B) positive -(('ﬁ) paralicl - (D Zero

xi.  The best absorber of radistion is a body whose surface is

i Clock wise torque is taken
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Note: Timie allowed for scéﬁon Band Cis2 hou‘rs and 40 minutes. -

w’ - " Marks: 32

IL. Attumpt any EIGHT Parts out of thc following. Each Part carries equal marks. | |
) k i Define Quantum physncs and Astm l’hywcs -

b By ;,wm[, an examplf, prove | lhat xcst and motlon au. re!auw, turm:,

S LA Ani iron shoi of mass, 6 g is ﬂred thh an a1r gun If thc velocxty of the shot is 62 ms 7,;_ ff»

Whal- is its nmmmtum?

iv. Whyrlit isdangéfous_to jﬁmp out of»a 'r-novingAvcHide?‘ R o o
v Explain why door handles are not put near hinges?
Covie If lhe,distzuice betweeh two objécts is tripled,what is the dc;:rease in the gfavitationul ' ~ ,,: -
force? | -

vii,  Deline energy. Write the names of some forms-of energy.
viil.  An clectric heater is heated at 250°w. calculate the quantity of heat generated in 10-

minutes.

ixe Why we cannot use Watcrinstead'of mercury it barometer?
X What is the energy. needud to melt 2kg of iccat 0°C in ]oules‘7 ) )
¢
Xt Why is the freezer wmpartmcnt kc,pt at thc top ofa rolm,ualor'? L,xplam bncﬂy A

SECTION“C” - © Marks2f

: Notc Atlcmpt any THREL qucstmns of the followmg Each qucstton carries equal Marks.

) ""lil.-' R '(a) I)enw the foltowm}, equation of motlon by graph Vf=Vit at) 4
(b) What force would be needed to producc acceleration of 1I0ms 2in a ball ofmass 0 5 kg, 3-:; :
1V,  (a) Define moment of fmcc On what factors does it depends? - - ' : 4
(b) Calculate the force of ¢ g,ravﬂalxon due 1o earth on a chlld weighing 10 kg :slandmg,
on the ground (T ak_P =10ms?) : _ 3
V. (2) Deline kinetic energy. Derive the expression used for kinclic energy. o 4
(b) State and explain pascal’s law. 3
V1. (a) The temperature of normal human body is 37° C. Find this temperature ou the Fahrenheit scale? - 4
“(b) Explain conduction of heat. Describe its two applicatibns. v 3



